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3 X o1 = 1.3 X 0 = 0
35 % 4 . 26 X Lh = 126k
2845 x L - 285 x 2h- =z 5Fh

I s0P A = 184S sopm = 1§3h = 2196
285 x 1 = 28 X 2h = S5
2.4 x 3 < 63 x 3h o [§In 5h=6
L » 3 = 33 X 40 = I3k h11
0 X L = 0 X 5h = D

g SopP a- 1245 S0PM = 37.8h = U5-34

5 Area= SOPKh . 18YSKI2Z | Go-s@pm . 2194

3 3 | Sop A 8-4s
= F34m* = 113om
oM Areq = SOPX3h = (2YSK3XIL | §C= SoPM _ y5.34
8 8 50F A 12:4s
= 5603 m* = 36Y3m B
6 fromop - (7-38X11%0) +(5:¢03%3642)
738+ 5603 )
= 2:249m

GC from pottom = (- 2:249 = (3-75!. rnf )
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Gl il No 85 Dae 2304208
ﬁ \S’fu,ﬁ 90 mMRIre (on 10 SR The

S Hoating on pn even) teew ot 6m AYGfY

“haif O™ of wostr puane, Gramencing from forwaity are IO

0) 488,67, 73,708, 640 and o9 vespectivey.

The, hosf- ONUNtG 75 metves Lyom bowd and. Stemn ave 2:13m ol 3357

qepectively - find+he aroq of the. water-plme onds e chapge droft i

50 197988 of COi9o i< 10aaed, verrbusy over Hhe cortre of F0BKET AT
o 0F e of s +

ﬁ NO- Of Orginates: 9 (Smpsonss frsst Tuke)
~T (09 X 495 = ouys o = 0
42 67 osh = 33k

\

\

IR WA

9-6h .
56 08h




T No. 86+ " - Datezg\oq‘lg‘
W%MMM/ haif breagth of -t Ships woterplone from,
oreat | O QX 0.0,3.3,4.5,4.8,4.5,3 ¢, 27 k Sm - HOlf breadth
M}Mﬂo from aft is am. At the fOTWAIL e1d iS ap
| opr & 1N WY of the butbous bow 4-4m long - THS Area is 2me
| O cortroid, 14mn from fovoand, find e OTeR of WRt-plas
| o cor. A 2 0 '
i E¥  no Of ovdinates: 9 (Simpsons Frst Yury
| AR X SM = POA K lver = PO
] 0'01 X 405 = p K 0 = 0
] X £ =g X OSh = 2n
] X 2 1'S 495 X b = 4.95h
4.5 X ¢ = 8 X o2n = 36k
4.8 X 2 20096 K Bh oz 238k
+5 X 8 X 4h = Fh
36 X 2 = 2 K Sk = 136k
2F Lk itg © =008 R 6k v =64sh
55 R 1 23S g uFh - J0Sh
0PA = oS S0PM= 2.55:0Sh
T Length OF iaderpiare- = 3493 23
Length of ship- (gth of oppendage
o '(50 ~Yiy '
= 9S-6
=954
h= 13657
ATeQ of WPz SOPXh . TYoSKIZ6SE | CF - 0PM _ 348323
3 3 SoP A Hos
oz 6.2 m* s“"'if?.oggm
frea of oppenddge = 200 M* | C-F Of ofpendage- §.4-m
FinaL cop - (Areax e of WP + (Aveax c-F of appendsge )
TotaL area
= (674-2£ 4F:039) 4 (20X1.4)
69y-2
= 48-524m
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M ™w HOMVUISE (rogs . ‘ No. 8F Date 23' 04-20%

Vﬁ(/ f] U)aIU o fecfion Qreos n mr Mﬁ'ﬂ"l‘n o JN‘P 07& 120m,
I 3 - _’——%/—’

| /_Mj‘jvm fod, are: 100 200 230 2%5 250 230

1 petwedn the fivgt ‘
_ ) (ZU = (8% 2 ordinatu from i, there are 2 more Gur §ection
f 125 00d, 1S > g0 Hhat qu 4 of them wre spaces equoly- Fordt

A1 o1 £levdi ~
of £707diN0Y Hurt ic 07 opperdage of vel Boom. S e 20 1%

ovold, :
coroids 5m from it fd end. Colcuiate the displacement of the vesEL
wnd her LB Yo

o NO- Of ordinaty: o (Combination of 4w YWes)

Logthof cxou. Section Qreg> LA th of Ship- Wtk Of PP

3 120-10 = (oM

L BhEN0 D hE =My e 22 2 P

From ﬁe
6,54,3L ;
NO - of oydinates : S (Simpson's Finst Yulg) | |
£h= 83 >h=8 22 | %Ei’“_,’::—'_;
Avea. X M D PV X wer = POM
0 K 4 o= w0 K © = 0
280 1 1%n v A o ue ulgoReR s e 2 e [000h
2715 X % . 550 X 2h . IOk
B sopv: 2900 SO0PM=  5660h = 124520
|4, 4-3, 42 4-1
N0 04 OYdINates: +Csimpson‘x second )
sh=12 2 h= Y= F333.
| Area. X SM = Pov X lwer = POM
_’_J 200 x 4 - 200 X 0 - D
| |75 x 3 =, 525 ) - 525k
N [25 X 3 = 395 X 2h = 7S0h
: 100 x4 - )00 X 3h - 300h
S0PV = 200 copM = (SF5h= 11599 475 ‘;'
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\F\N Date%,o
Voldmeof aft seetion: gopxh _ 9900k 22 G from aft= S0P g
p 7 of aft Seddion sm
= 2126667 B W93,
Volume of jFWd SCetion= S0PX3h _ [100X3K7-333 W igf’:’ . qa
BT 0 3 Tézs\
= 329305m° |Gl = 8819425
Volume of 0pporcsge goOm3 N = 97-625m
¢a Of af’Peﬂda;ytff‘mmqﬁ— [10+S = IISm T
" T (0&) A
120 - S NS m
Totol volume = 21266-66F+ 329985 +£00

- 25166-5|Fm?3

DIspacement = yvolumex amf‘g f

= 95046 517 X1025 .

& 2_6663‘852/\4.\

Totok volume

Final LCA = (Volwnex o-C of aft Sectios) + (volunex G-t of-fud section)+ (voliume 4 of apporty

|
|
|
|

k (zrzee 667X Y42 938) + (3299-85X 9% 625) + (600 X] 15)

25(66-5|F

- 50-82%m
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VERTICAL ORJINATEJ
W f DUWKheIA 12m prog,, pos Mo 89 Date. 24-04:20%
P rerticaL 0tingze 'S 0 e +op has e, Afoljowing equaly Spaced
| e bUukheod, o, b/)ﬁo,,)/ 68,69, 35 Caeuiare +he area & o of
- =K
/{1 MO?% O%’NATEL LEVER Wi BE HALF OF ORIINATE)
: 50/, 0F ORDINATES - 5 (Simpson’s |$* vuie
A1 vericad X
T 3015 % SiM — PoA X e = POM
Y, " = 3EMRG g5 = i 6ls5
/ 68 ; g = 24 R ‘3 - ]
- 0 Z ~ 134 R34 - 4624
o o e 3 0 2 om
o X 4 =38 T k135 6hS
L] S0Ph= 684 o saPM= 20249
: i ] { 4”]: ”/' h: 'y+;3‘
| ATeR = GoPK 0% : 2 '
i I
| = 686x3°
| 13
[N = ég.émb
Ca fromtop= S0PM
gobh -
= 20249

6846

= 2-952m
] Ct from bottom= 6.8-2951

= 3-848m
\ s v
| NoTE: FOR VERTICAL ORDINATES, We awaé;q 0btlin momeak from top-
- To find. oL from fop = £0PY
i S0PA
- 0 ik GC fvom botfom, Subtyact this from (aget ordinate.




_ | Both verticaw ¢ hovizental N 90 - - Date2YQyy,
_\TUL%E;_ A port Srae LU/Qy 0K forwares bushedd Is meters wioe ot T TP flay

| deck s bowdeds by e dip $ide outbonrel 4ok lopg/tadnas oty ead,
inbooard, - TWS tramverse. sulkheods has e followr” vorniok ordinatey from
K top ey From-the. inboards 40 e 4hip-5ide (both n dsik) - 21-o,

208, 105, 304,194,19-0 0ok 18-0 merrs WM

‘ WIe of the bukhead :
@’fm’”‘W/ TUCA0P -~ ever ic e ordinate (verlical
b from the inbooard. bUKHEAds : tever is 0,1, bn (honzarior)

SO~ | NOOf ordingdes: F (Simpsons 4TTUE)

Yollee XS pon x g - e x RG], = po
210 X g = 920 X 1056 =200 x o = 0
208 X "4 . 832 x 04 -%s528| ¥ 1h = 8

£ 208 X 2 = 41 x 1025 <Yws| X 2h = Jin
201 X 4 21804 x 1005 _ ogoz| x 3h T Yl
19-6 X Y =392 x 38 -38Y16| X 4h 1S6-8h
(90 X ¢ <« H x 95 - 722 | ¥ Sh = 380k
180 X 4 = 18 x 90 = 6L | X ¢h = [04h

S0PA 1 3588 Sopm: 35828 [osii2h
éh’)S/ h= 2.5 : = 2418
ATed = Gorxi
3
:358'8?(2'52
3 |

= 299m* (NOT ASKED N QUELTION)

v &

@ | Aom Tk top
80PM = 358281 _ 9.986m
SOPA 3584

(©) | Prom inbodid bukhead _
S0PM o 2628 - F324m
S0P A 3548
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i Vesier, T -
ﬁw eq ol interrals CO’””)@)O ) d f:";im (994h.- The widgh Off the détk 0k
ocf CLut W1t aren, g foeed are 120,435 ¢4 /s-g-
o Topet 10 g e o of the area from e fore ends Wi
Fwd hoif of deck, b) After haif of dece.

T

©) Fuot hat of dog T

ATen = SOP)(}, \ \ _ 12-0 13:5 158
W2 (R
S0P = 5&"’ 8b-¢
= @an (§R13S) - 153
c [62°2 \
2h- éO
Th=30
Avea - 152 2X%0 _ 280-5 m*
l2 :
Momenk = S0PXh*

|

T S0P - 3&+10b-C
|
|
|

- (3Xx12) +(10X13:5) -15-8
= |85
Momeat = 155 2X30" = 5820m°
fwd, hoif from fwd = MOme 5820 _ IS 296
, Aren 380-S

\)

@ After hoyf of etk
Arealop = 5ct8b-a
\ 9(5X’5’8)T(8Xl3-5)~!z-0 = 125

Avea= SOPKh - 13530 - y37-5m*
|2 12

—

Moment S0P = 3C tlob- &

2 (3K15-8) + (10X13:5) - [0 = [70-F

Momert = S0PKh* . (T0-4X30> - £390 m’
24 24

. C-Cof Qter hayf from d= Momed _ 6330 - [4-606m
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No. 92 \ i Date 2(/
_ ; 0y,
SEPT 2y

200 MJ WO o, G 6m dSaft IS 200metr gt
hoif- preagin of e woter-pione at WM
Qommemasg fom fovward, are: 0,36, 6073, 7% 76, #8,2- 840 neh,
\\Wf@m\‘f%tﬁ@ Ug;iy@(/ s floating at 6m Ve Leel draft - It Joag,
—— 20010008 of Crgo ar g weatier 20m from Gft el AN he gy
forwany k afe gfrer loodipg  Qusume that- Watlip(ase Yemuny yny, )

|01 1he mage th 7,, digfts - MCTC =110 V290 w
_Sor | NO-OF ORDINATES - g (Simpson's First R
\%p X Sm - poA X Lewtl = POM
] 0 X 4 = 3oy 2%i501 1= 0
| 36 x4 = 4 x dh L= |44k
60 X A = |2 X W 0= 24k
ke X F = 292 X 3n = §7.6h
TE X 2 s x4 vz elgho
7-6 X ¢4 = 30¢ X 5h = |S2h
4.9 X 3 = 96 X oh = 57F-6h
28 X ¢ = X H = 784h
0% X 1 = 0°¢ X 8h = 4.gh
S0PA = LW 5] 480¢h - goos
8h - |00
h= )25

AYCA= /80 Kh) _ /122-8x 12,2 1023333 m>
N A Y

SoPm

- =3 GOOM
Sorn 122-8

LCF= 100- 448904 _ -

= S0P el iatiyy g o, -
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- 1023-%%‘ . . S
[00 B OSNEY -
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L | Te = 900x39

a (l0X 100

Rl Te = 0-545m

Date 24 0Y- 25
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INFAOL ¢ty - Y - 109, = 50 (vesseL 00 even xeel

Ta= Texer L
LGP ~

=10-545X 51099 '

s 1436

- D 195m”
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= 0845~ 0195 -

= 0; 350Mm
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JTa 2 (90350 (RPN,

FinaL draft < S65°" e

S
I S——

|

|



! N

No. 94 Dateog‘OS-u

| \?,,'%fg A ship weder pigye s 8om oy, the biedsh WWW‘%
208 | 44 follows : 0,3-05,74, 94, 0:2, 1 10-36,403,40-0, 8 84, 55 0idom

'1 _ 2024 | TepPeetively . The Space between the first three and {aAf three %gge
i hoit of e, other orgaate- Calidae the arel of WHIE plane gy
Hs pé)s‘rflv‘on of +he corre Of lootadion
So"-|  No- of ondinates - 44 (Simpson's Fut KUlE
M43 4,5 4450

Brepdlipx SM_ = PoA X lver - POM
0 X 05 - D X 0 = D
s 4 515 G e =) 5 X 0-Sh g 5-75h
L8‘8+ X 215 - 132 X 1h = 13 26h
100 X 4 - 40 ;3 Z = §0h
Jo3 X 2 = 206 X 3h . é1-8h
1036 x4 = 444 X 4h _ 165 F6h
102 X 2 - 204 X ' 5h - 1025
93¢ x 4 = 3726 X 6h = 225.6h
(74 x 2's . o5 X F = 34.55m
4305 X 4% = bl x 35 = 457k
LO X +o05 = 0 X Sh = .
oy PP 20 55 SOPM = 774.43h
LT T4 R

70 H;/ gh- g0
\LL ‘/ h=10

At of WP = SOPAXh = 20155 Jo
3 3

- 67’/8330’)1’

Pos™ of COF = SoPm

N s ?W?‘ - 38 Lé
S0P A e T O B
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v al o No. 35 Date 09:05°20%
P ot e QU Of NP8 water piane are gy fonows
_ .'ijq'(m) 0 "EERTRTRY "
A WP (mY
e i ‘ bt 660 642 661 660
L (lodigte displacement in S and. Prash yoater auowane at 4+, draft
| @/——M'ﬁcw L5 (Simpsons Frst Rule)
/ F]TQCL X SNV - POV X' W}er 5 POM
| 650 X _ 50 - 5 : Py
il (60 X
e F = 290 X 1h _  2640h
| 662 X 2 . 1324 x = 2643k
]
| 66L x ¢ = 264 x  sm =
T es0 x L . 0 x4k = 290k
B Sopv: 9954 o1 goPM = 15860h
B h= 4 -2 = 15860
T Dispacement= ujw volumex density

volwne = SoPxh - 7918X) © — 943933 m"

3 aQ

Displacemens = 2633 33X1:028

- 2HS. S t ou

Area= WW volume - 9639:33 = 659-832m”

i draft 4

TPC= A, ©RDE 659-832 Mz,L b-163 €

. L A
| 5 E

FWA = W . 92305 -31F = 10°000em

\ 40TPC 40X 63
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AN [ 220009 g5
—203_|'e_b"0gth of o gmips water plane 420m, wry / mmufdw
\W@ 13:2,15:0,153,15 ¢ ’S‘W\WQM\
———- L 0O m ropoctvey. fo the warerﬁ/aﬂé areg, 0 o vy,
T 'Ww B 4490 o i
Sol"- \NOMOW)MB& 11(5;@3()/7; At mw)
—————Bldth{bon aft) xogm -  poa
' 1.2 ‘ XL = b {2
9:¢ Xa = 1 38¢4
13-2 Xt ooy = 264
150 X g . 60
I5:3 K V92 = 1 30
a2y - 156 R0 = b2y
/56 % -0 = 302
14.7 . )( 4_ ¢ e 58"3'
129 X 2 = 258
9:0 X z}_ = A108%
00 X 1 : 0
O S0PAE 1 3708,
loh=120 3 [h= 42
Aea of WP = 30PAXh _ 330312 _ 14832 m*
TPC = A ) 19852“0% = IS 203 t/cm
T 100 .
fwa = W - 669 = )1400) em -
gTPe " 40Ki5102 - ,
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@ The Woker plone, aveas of a ship are: |
|t 5 49D Vg 2 A e m
< Areq, 00 2050 900 . 1900 - -1HO  m” \
77 getweRn KeeL and Lm drapt the appendagé, Voume js 00 1hosE
] ) \ v
4 QuomePie Center fg 0:4m above +he Keew- Find, Hhe o jacement, K8 0
1 PNA Of Shp oL dratt 5moin Sw v oy
] \ \
fb NO-Of OTdinates : s (Simpsont First Ruse)
J Arveaps, X SMm - POV . X wwer = POM
| [HO X ! - |HO0: X L oh = | 740 0
= ,900 X 4 - 700" 'k 9 th - 15200 F600h
j 2010 X g v o= 44920 - X 103 ZK = 12060  §040h
_ 2050 X 4 7 3 820 x4 3 S 32800 2Ygooh
| 2100 X 1 . 9100 x5 4k ='1°10S00 8400k
| COPV:= 93630 ' copmz TF2270  48640h
T h= 1-00 e

Volume = SOPVKh = 93630X (00 = 7876667 m?

3 5\ 2 . 3 . - Jne

Ceometric cenfer= §oPm #2270 L 3°058m #8640 ., - 3-058m

abo Ve the KeeL S0PV 93630 923630
| vowme of opperdaice = 700m?3

G ¢ obove the K&@L = 0-6m
@ Totoal volume - F8F6 - 66F + 700 = 85F6- 6¢F m?
{Dfspyacgme/ut*— ww VO"XWJ?{;; = 8574 66FX1- 025 >]§}3/-ogz tj%

|

® Figu K8 = (VOIX Greof we) 4 (vol X &rCof appendans)

‘ TotaL volume
- (78%-663x2:058) + (H0X0'®) _ [2.85Fm] ,
857667
© Area- Yorl . EBEFCUL 35 353w
TPC = i—%)&&.’b: ﬁ*%gixrozs: 7582 t/em -
A= W - 879008 -[izsom],,

\L 4oTre 40X17-582
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S - MNoof ordinates: F (Simpson First Ku(ej
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No. 9&' Date’Z 05,

Y,
The TPC vatues of o ship measwreds from Kedb upwaYdA M%
_Of Afaught, wmmenarzg 1t Hhe Kol e 40, 64, 78,99, 103
o 126 Yespeehvely. Calculate ot 0 ara(uf gom:

TPC= A «de’l@L

100
) TPC:,_O_b)(-'.O?JS A 7 i
TPC= AX D010 {
A= 97 561 TRC
A X sM = pov X lwer = POM
39044 x 1 - 390244 X Oh =
595122 x 4 = 2380488 X A = 2380-yggh
- F60:976 0 x 2 L DS2U-952¢ X 2 = 3043-904
887805 X ¢ = 355122 "% 3h = [0653-h
1004.878 X 2 .z 2009356 X 4h . = 803904
2195 x 4 = 4448 X sk = 222439k
#0332 X L =vlF0-3BL . 6h - .= 3024 392k
S0PV = 15433172 S0PM = 53385.3¢sh
[h=15] = 80078052
@ Volume = SoPVXh = 154F3172x) .S
3 3
= F136-586 m2

052

| Displacement = Who vol K-devHy = 773,546 X102 - 7930-0t]

SoPA . T YT 3L
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Ared = [Sopxh|, = /18X 1. =12 m*
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m o b'head/ bm jn he

ht at A igtervay Commentad
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\ PO the Yhead. qre +0,38,85 3:3, 20 and, 2-Fm- Belov he’
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from e bottom op pingadr ,

& W 0f Odinates= ¢ Combmédwnof w9 Wl&)

Senu Ofd)n%mx M - Areq. X lwer. = POM
2F .16 4 o xi1 48 %t 0

2.0

4- = 12:0 X 12t =02 12:0h
L z (%8 XK 3 = 99 bk

B 33 x 1 =\ed 3. . AXNEG ZyEyGd 6k
5'D X 3 & j0-5 X4 2= 4L 3)-Sh
3-8 Riw By sy=ofing X 5 ™ = 5% 456h
A« Hy b S0F o T X 16 VBRIY v 20h

B | | | SOPA = ¢ ‘2_9r'L C eppM= 1329 [03-Fh

| =103 7

B AYeR = [SOPK3h|,,= ‘_z_af-zsz)[xz: 21-90m"
] 8 3

0= SOPM, =323 = 4.550m 1037 |z 4:550m
Sor A 292 292

“Arenof bhead = 50

(b = 08m

i - )-s 7z
TotoL aréa of buhead - (2421305 Jss90m*]

| Thtal &gC *.
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TR
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Eﬂ;wd ship ot ne metlr drafe MW”W
' iwwdx Qe 0s follors : |
— [ Dmftly oy, 4 'S é
| Ava(mY 5850 sgss 599  s95  S942 5975 5995
— | Colewate her K8 god pon gt o draft of 6mes
_S0M-] 0 woue prtinade - +(Simpsoals First Ruie)
— | Aex X sm - pov X lewer = PomM..
— | 5880 X 4 = 5850 x ‘oh = O
— | 585 X 4 - 2350 x 'th = 23540,
| 5900 K2 - ygoo  x a2k = 2300w
| 595 X 4 - og360 X 2k = T0980K
— | 9B X2 T aingg6 X - gk, - 475WYR
\M 523900 x  Sh - 119500k
5395 X L 2 5995 X g = 35970h
SoPV = 104431 SoPM = 39(134h
= 321134
Volume = 89pPvKh - 104631 X1 :
- = E

='35543- 66F m>

Displacement = 355y3- 443 X105 = 36432.259 T

Hﬂmﬁquwvm- - 355%3%67 :.59Z59$$ML
daraft R 5\
THe= 4 x density = EQZB'B%W
(00 [00 . :
Fol = W = 3643225972 [15i000 o]

qoTpc

40X 60320 -

—

K8= SOPM _ 331)3¢ _

SOPV 10663
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i ﬁS i mcww/m@ om he . ‘ (e) | f
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- = = fgn i Lo =.! 10
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SoPA= 606 - Sopms S5F6h =52
ANR= SoPAXK = go¢XL . 4o¢m*
3 ARCREN
6rC = 'SoPM = |ISL = [-gopm
soPn 606 $00°
84 x 1 - g4 X Zh = l6-8h
8 o afBE |z L o IR0 Bhikad HE
5 x 3 =45  ix’gh = 60m
X 1 - 2 X Sh z [Oh

copMm = (S8-8h= 3176

ATeA = SopAX3h = Y9 Yyx3K2 = 3F.05m” |

| 8 x: 8
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No. |02 D

i ' ate{q\os.
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= 69935 X1-0%

fWé&Sg?ST)
{ /TIVJ

(i) LCB 0f -the ghip=
(52000;( 2%328) +(17¥¥5X 59-392) + ((eox 83) -
69925

= [35-¢3nm] ,




7<*
|

=
=

AW

p—

N\ Ve

2
_ 91615 XL = 30539-)6‘hn

No. 105 Date 1405 20%

The. WA plone arens of o shp from forwards droft mentioned. are ¢4

5m * 5740,

_ o am: 5885,0°
/‘r&ﬂo,wsf:m' 6380, 4m: (320, 3m: 6255, 2m: 6090, 4m: S8I/Z

D 5560- And the displacement gnd KB ot Sm draft
NO* Of otdinazes; F{Simpsont 15+ 1)

- poM
Aven X SMmo = pov. X (ever = .
X 405 = 9780 X 0O - =
X 4 . 11480 X aiA 7.5k
- 27
X s . ggaps XA . j:g?zoh
6090« X 4 - 24360 X 2h o
12.5]0 x 3k : "FFS3
X P - {01120k
2 .
.

TR o\ 90 copM = 23383751
| sopve 9l6l7 ! — 5 0

SOPV X I

Kg o sm draft = onV 5
- 9%383+5

- g5

,—/’I" /‘_/—d
~ — e
/’// — —
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